A5 IhBIA 5 & R B EL

series MINIATURE STAINLESS STEEL TUBE AIR CYLINDERS

© KR ¢ 12~ ¢ 25ZEBEIFF 5 S0 6432874%
@ DI Series cylinders according to ISO 6432 (Bore size ¢ 12 ~ ¢ 25)

#3#&83% Specifications

B EE S5 E] Double-Single acting cylinders

DIC...
DIA...

EEpRY

DOUBLE ACTING - SINGLE END ROD TYPE

DID...

Ep i

DOUBLE ACTING - DOUBLE END ROD TYPE

DID...A
DID...B

EEhEEE ] R TIEE
ADJUSTABLE FORWARD STROKE CYLINDER
- ADJUSTABLE STROKE A25mm 8:50mm

SRIC...
SRIA...

BB
SINGLE ACTING WITH SPRING RETURN
- SINGLE END ROD TYPE

SHIC...
SHIA...

AT EHRY
SINGLE ACTING WITH SPRING EXTRUDE
- SINGLE END ROD TYPE

S ELATR Bore sizes of cylinder (mm)

012 |

¢ 16

| o200 | o¢25 |

032 |

¢ 40

1E#STFE Standard stroke (mm)

15,25,50,75,100,125,150,200,250,300,400,500

{EM7RE Used fluid

B2 BiRZE R CEBe R f)E) Filtered air with or without lubrication

FI&EME Material of cylinder barrel

i@ E SUS 304 Stainless steel tube

{#HFEE &EE The range of pressure (Kgf/cm?®)

1=€9

{EFABEEEE The range of temperature (°C)

-10 ~ 60

sTEE{XHE Order No.

'DI| | CH32X125- A-HPPV— FA-YLN-01BX 2|

o {T¥& Stroke

e E

Bore
o BIF Type
iﬁF‘ i) 12]012
4N =] e
c Integrated clevis 16| ¢ 16
A ERE 0D | |20]020
Boss-cut 25| $25
D A ] [[— 32| 032
Double rod
40 | 40

o fEEH X Operation
DI | 5% Double acting
SRI (e E)pid

Single acting Spring return

SHi | FIEEIR
Single acting Spring extrude

RAFEZIZE Quantity

o UnEhiETE
End cushions

FAm@j:Eﬂ

o Bitf4 Accessories l SEfERARE

Sensor switch

LNO1B|

FBmcﬂj:m

Without cushion

e =T

PPV

® 20~ ¢ 40t im AL 4E E

With end cushions

cs <[

 FATIE

Adjustable stroke

AJFE25mm

. Adjustable 25mm

AIFH50mm

= Adjustable 50mm

Tc| 11

KG| >=]__[]

.




BT RE UER AL POsL:

Miniature Stainless Steel Tube Air Cylinders

R~FE Dimension ¢ 12~ ¢ 40
DIC BEHE

Integrated clevis type

B oco
GéiKV L6
o Gt A = "

[}
= o
i T &
i g I l
> <f |
=B 40— s S
\— ‘
1 A
— N
L5
XC+Stroke
L1+Stroke EW
|
DIA #ER MH‘ }L‘ EE
Boss-cut type KY 2
© IN==r=rral —
= Hi 7 I I
M l=pd los-d
o o - ——— -
L3+Stroke
AM Y L4 L2+Stroke | 2mm
Bore| AM | D1 |¢ CD D3 L1 (L2 | L3 | L4 |L5|L6|L7 KK KU | KV (KW | KX | KY oMM W [EW | XC EE
®12 | 16 | 20 | o6 [M16XP15 | 84 |45 |27 |17 | 9 | 17 | 4.5 | M6XP1.0 5124 8 |10 5 | ¢p6 5 (12| 75| M5X0.8
®16 | 16 | 20 | ©6 |M16XP1.5] 91 |50.5|30.5| 17 | 9 | 17 | 5 |M6XP1.0 5124 8 | 10| 5 |06 5 (12| 82 | M5X0.8
®20 | 20 (27.5| ©8 |M22xP15| 112 |67.5/ 37 | 20 | 12| 20 | 7.6 [M8xP125 | 7 | 32| 8 | 13| 4 | o8 4 |16 | 95 G1/8
®25 | 22 |127.5| $8 |M22xP1.5|119.5/69.5|37.5| 22 | 12 | 22 | 8 |[M10xP125| 9 | 32| 8 (17| 6 | 10| 6 | 16 |104| G1/8
®32 (22| 37 | $10|M27xP2.0 | 133 |83.5|47.5| 20 |13.5| 22 | 9 |M10xP125| 10| 35|95 |17 | 6 |12 8 | 22 |120| G1/8
©40 | 24 | 45 | $10|M33xP2.0 | 138 | 85 | 49 | 20 |13.5| 22 | 9 |M12xP125| 14 | 41 |95|22 | 8 | p16| 11 | 26 |125| G1/8
DID £#iy Kw L7 EE nD|D|:|

Double rod

| o MM

D3
KK
|
=
{
|
‘/
|
|
|
|
|
|
|
i
l\
|
|
|
|
|
R
T
|
1]

(=5
-

L3+Stroke B
AM W L4 L2+Stroke g%
L9+Stroke g
DID..A/B &#fio]:FR i1
Double rod with adjustable stroke n DID[JA/B 1t
KV FriEE A ML+(A:25,B:50)
w ) ‘ —t—r e Damper plate s | [ _KE
KX | [* AN iR
=t = I AN | | | I — ML Jn

LA

MH+Stroke+(A:25,B:50)

Z7Z+2 X Stroke+(A:25,B:50)

Borefl AM| L2 | L3 | L4 | L7 KK KU | KV [KW | KX | KY oMM W | EE | L9 |ZZ |MH| ML | KE
$20 | 20 |67.5] 37 | 20 | 7.6 [M8xP125 | 7 | 32| 8 | 13| 4 | o8 | 4 | G1/8 |116|157| 25| 9 | 19
6 6
6 8
8

$25 | 22 |69.5/37.5| 22 | 8 [MIOXP125| 9 | 32| 8 | 17 ®10 G1/8 | 126 (170| 28 | 13 | 19
®32 | 22 |83.5/47.5| 20 M10xP1.25| 10 | 35 | 9.5 | 17 ®12 G1/8 | 140|184 | 30 | 15 | 21
G40 | 24 | 85 |49 | 20 | 9 |[M12xP125| 14 | 41 | 9.5 | 22 ®16| 11 | G1/8 | 147|196 | 36 | 18 | 26

©

H-14



/NI SR 0 S B

Miniature Stainless Steel Tube Air Cylinders

i NGl R<FE Dimension ¢ 12~ ¢ 40

FA Z@E3E K oicora
Front flange
AIRRE ®inmn (4) oFB (2) oFB
(FA) (FB)
H i Bore| TF | TR|UF |UR| t | FB
- 12| 40| - [ 52|30 | 3 |¢55
=R+ HC 8{ M- 16|40 | - | 52|30 | 3 |055
o 20|50 | - | 66|40 | 3 |065
1 1 ©25|50| - | 66|40 | 3 |06.5
[ i 32|50 |26 |64 40| 3 |07
T ©40| 54 | 30| 74 |50 | 4 |07
(932~ 940) (p12~ ¢ 25)
LB =gy KY oics
Foot mount
Bore[L10|L11|L12| LA | H | H2 | H3 | AB
o — $12]205| 14 [ 4232 |3 |20 |33 | 06
o T $16(20.5| 14 | 42 | 32 |3 |20 |33 | 96
s . $20(26 |17 | 54 | 40 |3 |25 |45 | o7
$25(26 | 17 | 54 | 40 |3 |25 | 45 | 97
2) » AB
L1t | @ ¢ TS ©32|25 | 18 | 64 | 50 | 35|28 | 48 | 07
L10 L12 $40(30 |20 | 74 |54 |4 [315/60 | 7
[=T=] 1
CA EEHE KBy picca
Clevis G EV
N
e Bore| LB | LC |EV |H4 |H5| G | D2 |R3
ﬂ%q_fik ,,,,, *g} I A ©12[ 15| 25 | 12| 3 |27 ] 15 |06 | 06
! 16| 15 | 25 | 12| 3 | 27 | 15 |06 | 96
P
2 #‘ 20|20 | 32|16 | 3 | 30 |185|08 | 07
e ; ®25|20 | 32|16 | 3 | 30 |185/98 | o7
. B - 32| 25|40 | 22| 3 | 40 |22.5/ 010 9
T o 40| 25 | 40 | 26 | 3 | 40 [22.5| 10| 9
TC mWmHE B oicote
Trunion
E i EE&iH
(TA) (TB) ouw
: : — Bore| TN |TM| TD |UW | t
\ ©20| 58 | 38 |08 | 942| 10
z| | {1 25| 58 | 38 |98 | p42| 10
DJT FlF WL 32| 60 | 40 |10 45| 12
40| 72 | 48 | 910 50| 12
»J« o TD




]
NSRS TS POSL;

Miniature Stainless Steel Tube Air Cylinders

Vrfife e Nelelsssogicn RYFE Dimension ¢ 20~ ¢ 40

A
1 1BYEmE N B o
I-Adapter e ~
[m}
7N °
D il
Ol ¢ ¢
|
= i l Bore| H6 | H7 | H9 | D2 | EY | E KK
© PN
T W ff— ©20| 35|45 |25] 8| 8 | 19 |[M8xP125
. ©25| 35|45 | 25| 8| 8 | 19 |[M10XP1.25
{ ] | ©32 | 45 | 57 | 30 | 10 | 10 | 22 |M10XP1.25
! ! ©40 | 45 | 57 | 30 | 10 | 10 | 22 |M12xP1.25
E | KK ]
Y YBUETE Bocoy
Y -Adapter EY_
N
o
/ﬂ—\ ‘— <
@ % |
~ | | Bore| H6 | H7 | H9 | D2 | EY | E KK
I
£ PES ZS ©20| 35|45 |25| 8| 8 | 19 |[M8xP125
| |
13 31 T ®25| 35|45 (25| 8| 8 | 19 [M10XP1.25
. | ®32| 45|57 | 30 | 10 | 10 | 22 |M10XP1.25
—— [ ©40 | 45 | 57 | 30 | 10 | 10 | 22 [M12xP1.25
E | KK ]
P PAiETE D B Boicr
P-Adapter B
‘ —
@) i
) | ;
| AR g p B B1 L L1|L2/W| S
: . Order No.
_ ) PHS6 | 6 |18 (67| 9 | 39|30 | 14 | 11 [M6xP10
‘ - ‘ PHS8 | 8 |22 | 9 | 12|47 |36 |17 | 14 |M8xP1.25
! o PHS10 | 10 | 26 [10.5| 14 | 56 | 43 | 21 | 17 |M10xP1.25
m | 1 I PHS12 | 12 | 30 |12 | 16 | 65 | 50 | 24 | 19 |M12xP1.25
™ \
W S
KG KGEZEETE [ o T[mXe
KG-Adapter
N H
o
= SRS | A B | N|D|G|H| MXP
() ] Order No.
{,_77, | I = KG-1006T | 37 [125| 7 | 18 | 5 | 10 [M6xP1.0
- S KG-1008T | 50 | 18 | 8 | 24 | 7 | 13 [M8xP1.25
- — KG-1010T | 58 | 20 | 9 | 26 | 8 | 17 |[M10XP1.25
KG-1012T | 58 |21.5| 9 | 28 | 8 | 17 |M12xP1.25
B G MXP
A

H-16

~
—_-
=

B
P
&=
i
£
[EE

ER
=]




%51 75 BIFE 5 AT PESLs

series BLOCK CYLINDERS

gib?‘iﬁgﬁﬁ;ﬁﬂ Double acting block cylinders

ezt
CBQ SIDE MOTJ‘ZNTING TYPE :%]D
RIE R IR (FHESE)
CBQ...B | s vountivg Tvee ‘:%
N ‘ (piston with magnet)
) L ke gl
@a‘x CBB FRONT NT;UNTING TYPE :%]D
% SR (FfEED
CBB...B FRONT hMa;UNT)ING TYPE :%Jﬁ
piston with magnet;
© KRFISEEL » — 1R ERIIERRFE o @ Al series of cylinder with magnet.
o IEEAEZHKRAMBEESX » AEFESEENEHELE - @ The choice of fixing is large and give more solution to integrate the cylinder in the
o BT ¢ 16~ ¢ 40R G BT AAER - mechanical part

@ All with end cushions ( ¢ 16~ ¢ 40).

#3183 Specifications

KEIAE Bore sizes of cylinder (mm) ®16 ©20 | ©25 | ©32 ©40
LB Port size M5 G 1/8 G 1/4
T{EEEE Power fluid EES 2 BE 25 (BB si A m8) Filtered air with or without lubrication
{FEFE S1&EE The range of pressure (kgf/cm?) 2~7

BA{ERE S Maximum pressure (kgf/cm®) 10.2

{HH;BEEiE The range of temperature (°C) 0~70

{FFREEIE The range of speed (mm/s) 50 ~ 500

ETEECHR Order No.
ICBQ- 25 B X100 Y HLN-01BX| 2 |

RAFEZZEIE Quantity

o B Accessories l SEHERARE Sensor switch

LN-01B

Y
o R e 1732 Stroke w—
Bore o giE{uE G

16 | ¢ 16 End cushions
20 | ¢ 20 MR E

, LN-48R|
25| 025 Without cushion J

PR ER R &
2| 032 = With end cushions

40| 040 Type | porg—Stroke| 15 | 25 | 50 | 75 100 125| 150|200 250 | 300

CcBQ,CBB ®16 ° ° ° ° ° [ S | -

U=, Type 20 o | o | o | o | 0| e | — || =-]<

o B0 Typ CBQ_(B) 25 o | o | o | 0o | 0| 0|0 | e —

cBQ ) CBB_(B) ¢ 32 o (o ° o (o o ° ° o | —

.o - - - ©40 o | o | o | o |0 | 0| 0|0 |0 e
#N)




77 BIB B ] pOsL;

Block Cylinders

EENZHERIR<F[E Dimension ¢ 16~ ¢ 40

o HE TR
CBQ gg;ﬁmﬁ%ﬁ% type @) ggg%SD
( T’[ : ,\réﬁd
C © =
()
CD AN _|EB
KK KU 2-EE

M AN ; nE 1l i
© z g 3 i
% < °l ; J
N < Y
‘ AF ‘ 2 G1 G LJEX
AE AM 8 AD ZC+Stroke 2
E Z1+Stroke
ZZ+Stroke
B: Myh#R{E ; N: iR
Bore | AD|AM|AN|AE| AF| Al |AH|BD|BE CD D | E|EB| EE |EX NG B G1 KK KU MM| 21| 2C | 2Z
®16 81159 |30 (16(12|24 18|16 |2-045 »8x45 (21 |20| 8 [M5x0.819 | 10 {13.5/23 | M6XP1.0 5| 673 |65 |95
®20 | 11|15 |9 (38 (2214 |28 |22 |22 |2-96.6, p11X6.5/28 |23| 8 | G1/8 |24 | 15 [17.5(26 |M8xP125 | 7| 8 |78 |67 [103.5
®25 | 12|18 |10 |42 |26 [ 15|30 |24 | 22 |2-$6.6, ¢ 11X6.5/33.5/26| 8 | G1/8 |30 | 16 [17.5[28 [MI0XP1.25| 9| 10 |80.568.5108.5
®32 | 14 | 23 |14 |54 |34 18|36 |28 | 27 |2-09, d14X8.5 |375/ 31| 8 | G1/8 |34.5| 16 [17.5[34 | MI0XP1.25| 10 | 12 | 94 |80 [127
®40 | 17 | 23 |18 |68 |46 (22|44 |34 |33 |2-0 11, p17.5X 11465/ 31| 9 | G1/4 |425| 16 [21.5(42 |M12XP1.25| 14 | 16 [114 |97 [147
CBB #fm=iRE CBBLISD
Front mounting type ! CBB[IB
( | - Ve W
§ | &y (D J
A h
B
3 EA |EB =
b2}
KK KU s 2-EE g
S oD B2
N 7 7 AT —L i
| 1 1 i
\ i H I I H H
@ 0
o &
DF | BF G1 ‘ G LIEX
AM WF Z1+Stroke 2
ZZ+Stroke

B: fyimAg & ; N: SR

Borel AM| AE| AF| AJ|AH|BD|BE |BF| D |DF|EA(EB| EE |EX G1 KK |KUMM S T WF| Z1 | ZZ

M5x0.8[19 |10 [13.5] 16 |M6XP1.0
G1/8 |24 [15 |17.5| 16 [M8XP1.25
G1/8 |30 [15 [17.5| 16 |M10XxP1.25 10 |5.5|M5xP0.8%12 | 22 (66.5/108.5
G1/8 |34.5(15 [17.5| 16 |M10xP1.25| 10|12 |6.6|M6xP1.0&E% | 22 |74 |121
G1/8 |42.5/21.5/21.5| 20 [M12xP1.25{ 14 |16 |9 |[M8xP1.25&%| 22 |90 |137

6(4.5|M4xP0O8ZR8 | 14 (64 | 95
8|5.5|M5xP0.8%12 | 20 |66 |[103.5

®16| 15|30 |22 |16(24|18 | 16| 9 |21
©20| 15|38 |28 |18 (28|22 |22 (12|28
¢25( 18 | 4232|2030 |24 | 22|14 33.5
$©32| 23 |54 |42 (2436|2827 |14|37.5
$40| 23 | 68 | 52 |28 |44 |34 | 33 | 14 |46.5

o © N O

@ 0 0 0o O
— 00 00 0
© © 0 0 o




5 RUSE R POSW
Block Cylinders
il s psWiehs R<~FE Dimension ¢ 16~ ¢ 40
CBQ filEm%w&EE
Side mounting type
()
K2 Il I
o5 |
() |
N
D_ LNO1B  —E E1 LN48R Dl
< I *”‘ T C] EI: -
1 (ERRE
\_/ | L/
CBB ifm%ichd
Front mounting type
== [bw
7N O - w— . ¢
hued ST T
D_ LNO1B E1 LN48R D1
< db .
T T =t <
“ —el Il ] gl \// NRE:
N/ — 1 = | .
EEzRRRAEIK STIEBARFEIC
Bore ;:ensgr switc:l:1 A B D E Bore Jgensgr switci R Al B1 D1 E1
©16 LNO1B 234 | 33 7 22 ©16 LN48R BS-S16| 20 | 30 8 28
©20 LNO1B 255 | 375 7 22 ©20 LN48R BS-S20| 22 | 34 8 28
©25 LNO1B 284 | 434 7 22 ©25 LN48R BS-S25| 24 | 39 8 28
032 LNO1B 32 49.3 7 22 ©32 LN48R BS-S32| 28 | 455 8 28
©40 LNO1B 36.3 | 57 7 22 ©40 LN48R BS-S40| 32 | 53 8 28




73 BUSRR BRI POSL]

Block Cylinders

U Lk e Nelelesioie RYFE Dimension ¢ 16~ ¢ 40

Y YEUZER (FiHidEsH) B - | EE
Y - Adapter _ ¥ | Filename
Y-M6x1.0 | YM06100
! Y-M8x1.25 |YMO08125
= Y-M10x 1.25 | YM10125
a4 N Y-M12%1.25 | YM12125
[ B
o - Type Bore D F G KK T ) \')
] Y-M6x1.0 |16 6| 24 | 31 | M6xP10 | 12 | 6 | 12
Y-M8x1.25 | ¢ 20 8| 32| 42 | M8xP125 | 16 | 8 | 16
] Y-M10x1.25 ¢ 25, 32| 10 | 40 | 52 | M10xP125| 20 | 10 | 20
o Y-M12x1.25 & 40 12 | 48 | 62 | M12xP125| 24 | 12 | 24
P Pﬂﬁﬂﬁ n Type té?%
P-Adapter ¥ [ File name
P-M6x1.0 | PM06100
c P-M8x1.25 | PM08125
E B P-M10x 1.25 | PM10125
N P-M12x 1.25 | PM12125
%ﬁ ol i
% ) Type Bore |B|C|D|E|F|G|J| KK [sw
{ =N L © P-M6x1.0 | ©16 7| 9] 61830/ 39 [14 |[MexpP10 | 11
2 P-M8 x 1.25| ¢ 20 9 | 12| 8|22 36|47 |17 |M8xP125 | 14
= P-M10x1.25| ¢ 25,9 32(10.5| 14 | 10 | 26 | 43 | 56 | 21 [M10xP1.25] 17
=D P-M12x1.25| ¢ 40 12 | 16| 12 | 30 | 50 | 65 |24 |M12xP1.25| 19
| KK
KG Z#ixig B - |[FE
KG-Adapter T

"KGMBX10 | KG06100
KG-M8x125 | KG08125
EEuziE KG-M10x 1.25 | KG10125
KK ZE

/7 KG-M12 X 1.25 [ KG12125
M N
A g

S i w . Type Bore |A|B|C|D|E|F| KK | U m
) ! W KG-M6x1.0 | 16 37 7.5 14 |15 12 5 M6 x P1.0 1 Ry
rL) KG-M8Xx1.25 | ¢ 20 47 |11 19 (20 13 6.5 |M8xP1.25 | 0.75 g%
E F‘ B KG-M10x1.25| $ 25, p 32| 54 |13 24 1255(|125| 8 M10%x P1.25| 1 e
A KG-M12x1.25| ¢ 40 71 |17 29 |31 16 |11 M12x P1.25| 1.15 R
[
&I
- —
Ed=dis Tvoe | BEE
Mounting nut n yp | File name

N-M6x1.0 [ NM06100
N-M8x1.25 [ NM08125
KK sw N-M10 % 1.25 [ NM10125

M6 X P1.0 10 N-M12 X 1.25 [ NM12125
M8xP125 | 14

M10xP1.25| 17
M12xP1.25| 19

—q Type Bore
N-M6x1.0 |16
N-M8 x1.25 |¢ 20
N-M10x1.25 (¢ 25, ¢ 32
N-M12x1.25 | 40

N |
KK

~ o o wl X

H-20



	頁面  13
	頁面  14
	頁面  15
	頁面  16
	頁面  17
	頁面  18
	頁面  19
	頁面  20

